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What do you get when you cross a comedian and a rabbit?
A funny bunny!

Divide these numbers. HOW MANY?
Example: How many 2's go into 6?

1. g§+92= 1. 7+1= 2. 6+2=
2. 9.1 = 2. g+1= 2. 4+1-=
3. §L1q-= 13. 2292 = 8. 3+1=
4. 1+1-= 4. 9+1= 24. 18+ 2=
5. A+9= 5. 10+ 2 = 25 10+1=
6. g+1 = 16. 20+ 2= 6. 12+2=
7. 4+2= 17. 22 +2= 2l 16+2=
8. 14+2= 18 2+1= % 6+2=
9. g+1= 19. 4+2= 29 6+1=
10. 3+1 = 20. 2 L9 = 0. g2 =

© Facilitators Ferriswheel WS#:Div202 Score:



Answer Key Date:
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What do you get when you cross a comedian and a rabbit?

A funny bunny!

Divide these numbers. HOW MANY?
Example: How many 2's go into 6?

L. 8+2=4 . 7+1=7 2. 6+2=3
2. 2+1=2 12.6+1=6 2. 4+1=4
3. 5+1=5 B 2+2=1 2. 3+1=3
4 1+1=1 4 9+1=9 24 18+2=19
5 4+2=2 1510+2=5 2 10+1=10
6 8+1=28 6. 20+2=10 6. 12+2=6
T 4+2=2 7. 22+2=11 27. 16+2=8
8 14+2=7 18 2+1=2 8. 6+2=3
%> 8+1=28 199 4+2=2 2% 6+1=6
0.3+1=3 0. 2+2=1 0. 6+2=3
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